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Section - A
Qualitative Reasoning

Choose the correct option from the four
. options given below .

Stand Alone MCQ
_ | Choose the one which is different from the rest (Q. No. 1-3)
99 famen &1 999 i @ gad | &= 2

A7 |\

2 3 4 5

1. - |
1

(a) 2 (b) 3 (c) 4 (d) 5
ﬁte
i : il
R e |
y 2. = \N__E
) 1 2 3

(a)3 (b) 4 (c) 1

1 2 3
(b) 5 (c) 2

(a) 4 (d) 3



NNV =N

. 4.Which Lady Bug does not show equal number
I! of dots on both sides of its wings?
N

e ®ie & U @ T el @ f[dgai & W 99 T8 87

(a) a (b) b (c) c (d)d

‘\'-L$

alternatives.

fameal # ﬂﬁﬁﬁ fa@ea gy |
5] Dnctnr s Teacher:
3TETIH

2 A X B

(ﬂ) a (b) b (€)c (d) d
! 6) Children's Day : 14th November : :Teacher's Day : ? :
" a) 2nd October b) 26th January
a~l c) 5th September d) 15th August
a1t faed : 14 9= = P e
\\a}zmafa{a? b) 26 w=a&1 c) 5 fmx d) 15 anTEd

Y o N e\

é: (Q.No.5 & 6) Select the related option from the given
€

Y. e Y

A




Identify and tick the correct option (Q. no. 7 & 8)
UseE 6 g8 [Aeey @ e Fifem |

7) It is a model of earth.
TE TAT F Hisd & |

ot

" a) b) c) d)

| am known as a flightless bird, | use my
small wings for balancing myself.
a) Emu b) Ostrich c) Kiwi d) Penguin
# U 7SS arer "El B | A 39
BIc U@l & SRAA 399 Ho- 919
@ & forg &var g |
i a)sq b)siiRga c) &ar d) dffa=

9) MNoori ﬁintmduceﬂ Md. Zakir as Maternal
uncle of her kids, Tanzeen and Pasha. How is Md.
Zakir related to Noori.

a) Brother b) Cousin

c) Husband d) Wife

:@ﬁ% o

Tuil § 9190 & A © WY J ®edr |




B oy b)yoaE Our  d)et S
Lari Sy
10)If A is taller than B and C is taller than A
Who is tallest?
afe A @) wiars B @ afdres 8 aar C @) <iag A 9
o mEg wE o B &7

a)A b)B c)C d)None of the abovelm.
(soaem | & #1541 )

Find the mirror image of the (x) figure of following
Questions fmm (Q.No. 11-13)

= fau TFE{‘EFFIT @1-13) § (x) =1
= 11}STUDENT TNEDUTS  2Tud3auT

a) b)
TnaauTe None of these (=% == ) §

O I =

(X) (A) (B) (C) (D)




In which of the following options, the given shape (x)
is hidden. (Q.No. 14&15)

A g 7o Rraedt ¥ 98 fAwed g et @ T sy (x)
oy &2 21 |




16)In a certain code ABCD is written as 1234. How
will BAD be written in that code?
gfe fBdl @ 9191 § ABCD 1 1234 for@r wran

g o 9al @e At § BAD &% fomar smaem?
a) 678 b) 421 c) 214 d) 221

17)If ROSE is written as ESOR then how will you
write JASMINE

gie ROSE =1 v ESOR feran wig @ JASMINE

&l fered |
a) JASNEMI b) ENIMSAJ
c) EMINASJ d) None of these

18)Select the order of planets (if at no. 1 it is Mercury)

according to their distance from Sun.
gia 51 R gg U8 8, Ol Y 9 SN & IER W I

a) Earth, Mars, Jupiter a) T, Hie, gEWid
b) Mars, Venus, Neptune b) #Hwa, g, S
c) Venus, Earth, Mars C) b, Gl HITHA

~d) Venus, Jupiter, Saturn d) =, g8wid, @i

i‘.
i
5

(7 1) o
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Complete the Series. (Q. No. 19-22)
faT Y HH B QW BT [(Q. No. 19-22)

a) 12 b) 35 c) 31 d) 45

20)ABZ, CDY, EFX, ?
a)ZBA b)GHR c¢)GHW d)DAY

- =
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= 23) Observe the following sequence. How many 3's are 1
3 ! followed by 5's |
033568638335553535606385378935 ¢

o R

HUT T M5 @ H S99 '3 @ e diforg e 9is 5' A 81 )
a) 4 b) 3 c)5 d) 10

X

24)Today is 6th May 2013, Wednesday. What will be
the day on 14th May 2013.
a) Monday b) Thursday c)Wednesday d) Tuesday
afg TS 6 HS 2013 UAR 8 | O 91U 14 HE 2013 Bl HiF Gl
&= grme
a) HHEaN b) drar C) gEaR d) #Tear

25) How far does Cheeku live from Cheena? Q
Fc‘rqwf%ﬁﬁ @1 HEFdaT ¥ didg AN T4l & BY @l 4 D \&
)

Cheekuf
?ﬁ'ﬂi - L] Hi=T -
T1 60m TT130m 11T 100m T170m

b)190m  ¢)200m  d)230m

—~—
s




26) How many mangoes will replace (x) in the given
s picture?
am@ir 7 (X) F = T o oW, TRgd ® AN & aYEy g5617

a) 3 Mangoes (39) b)6 Mangoes (2m)
c) 2 Mangoes (37 ) d) None of these (e & =7 )

27)The weight of Monkey is 50 Kg. What is the weight

of Giraffe shown in given picture?
afe g=x H AN 50 They™ | of = § faan v fos &1

AR FATY |

a)300kg (fFam.) b) 350kg (fFam. )
c)250kg  (fmam. ) d)200kg  (fmm )

" e o s S B e T
dE S S po : :ﬁa.'{%f" ]
e
Tt er ] o




28)Sunita Williams and Kalpana Chawlawent
to space in a
g faferm iR e amaer smaia § fr 4

=

- -

-
29)Whieh of the following will sink inwater?
a) Leaf b) Log c) Nail d) Feather
frer ¥ @ 9 @ g aeed g8 omf?
a) i b) aas'g"LEa'r ghel C) da  d) 9w

30)Tick the pair in which 'Predator-Prey" P
relationship'dees not exist.

a) Cat - Mouse  b) Cow- Zebra

c) Crane - Fish  d) Lion-Deer
A T W, S ¥ W B fraer amER T8 27

a) faeeh — 7@t b) TR — ST



.~ 31) Which of the following is not showing circulatory
' motion?

o= Rl # B9 A1 aderia & yeiia @ B 22

" 132) The clock shown below is 25 minutes faster than
the correct time. what is the correct time?

gfg «irg fewE T g1 Wil wHa 9§ 25 FFe ot € o 39
a) 8:00 o'clock b) 8:10 o' clock

- ¢) 7:20 o'clock  d) 7:45 o' clock

33) Water Covers part of the Earth.

Gl B ...oocovrrenee. ATT U H BT AT T |
( %represents water,% o =gt 21 )




34) Oops! this is a wrong combination. Tick the
wrong one.
S99 9 ®F 9 T Ted 87

35) Which one is different?
| b) Cotton
= 5 B T = 87

a) Jute

a) S

b) wurs

c) 7iRaa &1 ven d) o9

c) Coir

d) Wool

36) Count the number of squares in given

picture.

=1 amsplar # fva v &7

b) 5

S

b

¢) 10

d) 9

-

(d)

12
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3 c) Motorcycle
HIex WAgfad
a) 1A, 2B, 3C
;“_ b) 1B, 2C, 3A
gk c)1C, 2B, 3A
d) 1A, 2C, 3B
|

2 38) Which is the shortest route for butterfly to
reach the flower?

fociell &1 el aF Ugal & 98y Bicl IR gdid |

Route (1)




NNV 2 =N

- 39)Select the right match.

el fawen g |
., 1. a) Desert Plant 2. b)Insectivorous Plant
qrer SeaRll arer

'\I.-LN

L - |
= | N { -
L -
i - -
il -. —
i =y
| i !

3. ¢) Aquatic Plant ij-?-':}-,_";
£ a) 1B, 2A, 3C b) 1C, 2A, 3B
c) 1A. 2B, 3C d) 1B, 2C, 3A

40) Recognize the state through which this train
is passing by.
fomarg g Yot b wow W g o @ 27

I~ /1R Yy

a) Chennai a) @=1s
b) Delhi b) el
c) Punjab C) uw"
d) Uttar Pradesh d) 9=x ueEw

))’I’é ’ey
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Q. No.

Answer

(b)

K |

Q. No. Answer

24
25
26
27
28
29
30




Meeta has a pet named Mars. Help Meeta in finding
her way to reach Mars by answering questions that
come in between.

B

(1) It is not a ma mal?'
(a) Snake (b)whale

o

¥

4).State bird of Delhi?
{a} Grow () Spatrc

L

[
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HIT & TTeig, Gl Dl A9 A & | AT b 719 db
Uge & foly |8 UeHl & SR 1 B8R | 3T SHD!
~ HEE DI |

| L .
(1) g AT g 981 &
(A) =g (B) ==
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(B)
Minnu's
Temple
House P
" , Jeetu's
Park House

? ¢

Look at the map of Minnu and Jeetu's house carefully. Now

S

answer the following questions -

1. Park is in

a)East b)West

side of Minnu's house

c) North

d) South

2. If location of Park is A2, then find
the location of Jeetu's hosue?

a) A1 b) B2

3. Jeetu is going from his house to temple. In which direction is he

moving?

a) East b) North

c) B1

c) West

d) A2

d) South

& S

R,

4. There is a flag at the top of temple. Which direction is it showing?"

a) North b) East

]

c) West

d) South

il"' —
e
e e




’F‘ark ,
D .

A ofr offg & =R & 799 & s 9 2| S Ry v uw & sew € _-;-,_.?
T)vv o, A & 8 & e . o= # 87 :;A;.,
a)gd Db)uflm c)sR d) s@mw A

2) afy 891 & R 9@ o iy A2 2 o1 ofig &
TN Fal fgg 87
a) A1 b) B2 c) B1 d) A2

3) oitg a0+ 'R 9 HaR o @1 £ 1 98 5w R F 9a
T8 &7
a) g b) s c) ufdgm  d) s

4) sfex W U 3isT o g 2| 9% fw fRwm @ gul
<El 8?7
a)sw  b)gd c) ufeem  d) sRm




Sports
Programmes

Science
Programmes

Reality «— |
Shows News Programmes

Some children were asked which kind of television programmes
were their favourite.
Look at the circle graph (pie chart) that gives their replies.
| 1. Which programme is highly liked by children?
a) Cartoon b) Sports c) News d) Science
2. Which two programmes are equally liked by children?

a) Cartoon & Sports b) News and Reality
c) Science and Reality Shows d) None

3. How many total number of students were asked of their favourite
programme?

a) 160 b) 260 c) 60 d) 320

4. Which type of programme is least liked by them?

a)Sports  b) News c) Science d) Reality Shows




6P Tl § SId AU colllduld Didsmd & 9N § T8 17 | SURIE
Ors =e @ ow@dy 9 W94l & 9T © |

1. I GT FAFHH 9=01 NI Tdiis o™l okl 29
a) e b) @= C) HHTER d) fa=m=

2. BIF ¥ B $HH g=df g W ©0 ¥ UHe fHu g?
a) wcA 3N We b) =R s Raferd m
c) fasm afiw RaferdT @ d) =g =21

3. A fopa g=af ¥ S9% AUHE HRIHH & aN H
TET 74T |
a) 160 b) 260 C) 60 d) 320

4, 59 U™ & HEHH =9 N1 T99 HH THg fhy 7|
a) W b) THmER c) fasm d) Rafadr m




Payal has drawn this geometrical dog. Can you help h;
different shapes she has used in counting in making it?
U | Uh SISl 9915 | &1 a9 g8 9§ 99 wedr
ﬁﬂﬁ%fﬂﬁﬂ?ﬂﬁaﬂj?ﬁmﬁlﬁaﬂ?ﬁmaﬁlﬁ

—"-.h-q..

1. Number of Cin::lgﬁ, She has drawlﬂ
IR o g g g’
a) 3 b) 4 - c) 6

2. Number of trlanglaa‘ysed’?
g9 angfa o B o 87
a) 2 b)4 G0 ™

: e
3. Number of rectangles, used to complete the figure.

fopa= @madl &1 SwoE, = B Q@ He # A T

a) 4 me}? c)5




VR o S et
Sy

.‘af : :__._' -:_::__:'-'--'-' R L %
ich shape is used least?

O ] i A
a) b) C) d)

PASSAGE -5

H
A

Identify the name of places in the grid with the help of clues
given and select the correct option.
1) The largest continent of the world

a) Europe b)Asia c) Morth America d) Africa

2) The Pink City of India.
a) Agra b)Jodhpur c)Jaipur d) Chandigarh

3) The land of rising sun
a)Japan b)Bhutan c)Korea d)China

4) Famous Gateway of India is the pride of which city.
a) Delhi b) Kolkata c¢)Hyderabad d)Mumbai



H|F| 9| T |®wm|H
g| T T = | B |
J| T |F | W A|3
| F| Al | FH (S
T |w|a| BT |"
|9 | T |fRrEm e

fau 7w HHdl T ST gAY | HEl B3R B HIR 99
B8U 97 # go a1 wel Feen w fRrEs & |

1- gfF T &1 999 91 J9EE™
a) IWa b) ¢f¥rar c) SR HARST d) b

2- MR &1 ATl e
a) amr b) SegR  ¢) AR d) "@EnTe

3- 9T IS BT
a) i< b) e c) siRkar d) 9=

4- Treqd e sfETr = & o)
a) fReel b) ®radanr c) BavEe d) Has

=



Passage - 1
#8 Q. No. Answer
2 -:5-:: y 1 {A}
1 2. (B)
S 3 (A)
1 (B)
Passage -2
Q. No. Answer
1. (D)
2. (B)
: 3. (B)
ps 4. (B)

Passage - 3
‘I Q.No. Answer

1 (A)
2. (C)
3. (D)
4. (B)

Passage - 4

Q. No. Answer
1. (D)
2 (D)
3. (B)
4. (B)

Passage -5
Q. No. Answer

1 (B)
x (C)
3. (A)
4 (D)




Section - B
Quantitative Reasoning
STAND ALONE MCQ

1. Which number is represented by given abacus?
faar o srew e W &Y welfa Hear 872

H O

a) 2357 b) 5237 c) 5327 d) 7325

2. In the given balloon chain, which number is more than 745
but less than 9007
& g e @ Aren # @i W e 745 9 f¥e 2N oo0 W W B?

D

3. Study the pattern and choose the appropriate answer.




gL Tk o

4. Which box has smallest value? R .
fo| dfeq &1 |39 =[AaH 27

5000+300+80 | 3000+700+20 | 3000+400+80 |4000+100+40
(a) (b) (c) (d)

, then what is the value of

oo%
afy | PP | = 51 81 a1 | &7 | & A g

a) 15 b) 19 c) 17 d) 23

T,

"'-‘h "
6. The angle fbrme-{iﬁy hands of cloc
W 115@s TSI B Gl gRT S T

‘.-\Hl

b) @btuse angle
d) Right angle

a) Acute angle
c) Straight Angle

a) VT DI, b) afEres &
C) WRa BT d) w5 S




Lt T

*h.[“ﬁmuLmﬁf gl

;ﬂmﬁJJv d) 1, 11V, 11

9. Replace * with correct number
* & fou Sfg wen foRan
6787503

+2130%438

8918051
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10. Diagram below shows a number line. What is the value

of X ?
:ﬁ%wmmﬁmﬁﬁ%l}{aﬂmwﬁ?

=

< 60, 788 60, EEB ﬁ::r 988 x ”
a) 61,008 b) 61,088
c) 61,889 d) 61,988

11. On a particular day, 128 boxes of apples were sold in a
market. If each box can hold 23 apples, what was the total
number of apples sold on that day?
fredt oo 3= g9, wifde W 49 o ¥ai & diaal &7 6 128 2
afe o 99w ¥ 23 99 8 97 99 39 99 1Y i @7 e @ o

a) 2944 b) 2946
c) 2842 d) 2494

12. Shaded portion represenis which fraction?
et 9T f&e =1 &1 geiiar 27

a) 1/10 b) 1/5

c) 2/4 d) 2/5



T e
@_‘. : = i

13. Which is a better buy?
S |l Higr sfad 2?
a a) 2 balls for Rs. 30
} b 30 % 2
b) SSSS b) 4 balls for Rs. 40
g c) S c) 5 balls for Rs. 60
G 60 . ¥ 5 g
: I d) SSSSS® | d) 6 balls for Rs. 65
65 W. # 6 I

14. The number of lines of symmetry in the following figure is
e el o v @l @) @& B

d a) 0 b) 1 c) 2 d) Infinite ( 2fT=a )

15.The perimeter of following figure is

Hcm

W
a) 23 cm b) 26 cm c) 20 cm d) 28 cm ;‘-:

L 188 L s




31
16. On his birthday, Arun brought 91 chocolate to distribute in

his class. He distributed 5” 7 chocolates to the

boys. How many chocolates did boys get”?
T ST HTGad OY ST U HET # gicd & fow a1

Hihele o4l | Dithole & Gl 5 /7 S oIe®] # dicl |
ASh o fhadl dikee AaT?
a) 45 b) 25 G135 d) 65

17. btens=
a) 5000/100 b) 5000/10
c) 5000/1000 d) 50/10

18. 31 Students are standing in a line. Ajay is in the middle of

; line. What is his position from left as well as right?
P x 31ﬁaﬁﬁqﬁﬂﬁﬁéﬁlmqﬁﬂ$mﬁwﬁleﬁm

T WSS I S T 27
b
a)15th b)) 10th ¢) 16th  d) 17th
a) 1sai b) 1oat c) 1ear d) t1rat
T

19. 6:15 PM in 24 hour clock is

WY 8:15 H THY, 24 TS B TSI & FTTAN ........ BT |
a) 8015 hours b) 0815 hours

c) 2015 hours d) 2105 hours




H..ﬁi 20.The smallest six digit number formed by using
the digits 9,2,5,4,7,0 is (repitition of digits is not allowed)
AHT 9,254,7,0 T VAR TN G491 6 Dl DI GIY BIE] GEAT ... B | ‘

—

k@\uncxw“'5‘1’=!=5L£if"1”'/L

a) 975420 b) 579402
©) 204579 d) 024579

X

21.Rashi picked four of the flowers given below and wrote
two fractions to represent the part of group of flowers she

picked. Which two fractions she could have written? L.
Wﬁr#;ﬁﬁﬁqwqﬁﬁﬁ@rwqﬁﬁﬂqaﬁ??ﬁﬁaﬂﬁwmﬁ
AT w1 uslRia B @ fog SE 91 e ol | e 3 9 31 e o
BIAI?

J PRRD =

RRHE :i

a) 1/2 and 4/8 b) 1/2 and 2/8 .
c) 4/8 and 1/4 d) 4/8 and 2/8

* 22.Cost of 180 books is Rs. 5400. The cost of 350 such
books is

180 gﬁﬁwﬂﬂ_ﬁmm WY & | UHT 350 DI &I Hod & —-—-———-

@ a) Rs 9.200 b)Rs 10,200 c)Rs 95,00 d) Rs 10,500
N < 7N
f p \)

f

I~ 71 %




" carsare parked between A and B as shown. How many

more cars can be parked between A and D.

AB.C 3R D TER gRal R @Ws Us & | Il a3 g & 99 o9
B WSl BT MY B O & G a8 da R p @ A el
faeil B ! B ol Hdadl &7

d) 14

L 24.1f 256 % 2 =128 and 369 * 3 =123, Then 605 % 5 =
' afz 256 % 2 = 128 3w 369 % 3=123. 51605 % 5=

- a) 610 b) 111 c) 121 d) 3025

25.Anil and Deepak start running in opposite directions
in a circular track from same point and at same time.
Anil is a faster runner. Where are they likely to meet?

START

aifret o dius o & W 9 Hai

uH B wEg o¥ fawda few |

qhTd 2 | O aifhe diuw | ow

R & O 9 U g @l 6




26. Gas protects us from the harmiul ray

a) Oxygen b) Nitrogen c)Ozone d) Carbon Dioxide
a) sffeirs b)) =EgeE c) ard= d) FrEa erssitaass

—— -

27.0Oldest animal which remained unchanged on earth for

v

. about 250,000,000 years is e
i;% a) Turtle b) Kiwi c) Cockroach d)Sib:H?ﬁEEane

Py 3 @ e 9T ol 250,000,000 el B W
a) wwan b) FEH ) Fewm  d) wrdl

28.Which of the following part of plant protects the seeds?
g fag o o & vt # B W 9nr 9 B geid e 87

.
Fruit Root Leaf g.Stem
w% S .:rf% 1 P
(a) (b) (c) (d)

—m

29.X-Ray isﬁcribed by a doctor in case of :
(a) Fracture (b) Headache (c)Burns (d) Dogbite




30. is a good conductor of electricity.
a) Rubber b) Wood c) Copper d) Cork

erveeneen: TEIRR ] STEBT AT & |
a) v\as b) w®we! [ GIC d) &is

31.Guess who | am?
- | grow in sandy soil in coastal areas
.a)Tea b)Rice c)Cotton d)Coconut

¥ v & ey el fa # somn wmar £ F s &7

S a)ame b)) @@ c) wE  d) Wkga

32.Divya is watching a T.V. The senses used by her in this
situation are

a) Smell and hearing b) Hearing and Touch

c) Touch and Sight d) Hearing and Sight

: foem & o w1 &) 39 Rfa # SS9 5WT SRATE @ O arell Seieear
BT Wl 87

a) guem SR gAas  b) g SR g

c) BT afiR g9 d) g 2R S



36
33.Anshu was playing with a toy and he observed that it was

attracted by a magnet. The toy was made up Dfr
N

S
a) Plastic b)lron c)Cotion d) Clay
Ay v Rae™ & 9 Wa 8 o1 AN 99 g9 F 98 Radsr gaa @

. TP HTHiET B T | REEE........... T FAT T |
.| a)wfes b)eEr c)ws  d) faed

34.The food cooked in solar cooker uses the energy

of
IR @HY H GG TN @A ....we.. DI ol B UART BT B |

a) Sound b)Sun c) Electricity d) Water
a) =i b) = c) fa=gga d) =

' 35.If we add a lot of green leaves and vegetables to our
food, we will grow : L

a) Fat and round

b) Thin and weak

c) Healthy and disease free

d) All of these

afe &9 o+ Ao 3 &0 ovew afeaar afge ArEr # o o 89 e uen
CLAIT

a) | 3R b) udel 3N gda

C) T 3™ I Hod d) SuRTE 9

=



B,

g il
36.Mohit eats rice daily in all his meals. Suggest
which major nutrient he takes daily.

a) Carbohydrates  b) Proteins

c) Fats d) Vitamins

Hifge ufafe au= 8% 9o ¥ =gd @l 2 | 998y % 98

us HIF G UNE odod il A7 § giafEs omr 2
. a) FEfEEse b) s
% C) T d) faerfm

37.Rahul visited doctors clinic and saw the human skeleton.

He observed that is not the part of human
skeleton.
=g a) Skull b) Backbone c) Ribcage
h.{ﬁ,;"—-_t HHTA O @l | I Ul fF HIFG HebTd oA
EI'~. .; " & HET F8] & |
E \ a) @msEr  b) awss c) wdterar d) ==

38.Neha accidentally touched hot utensil and immediately

d) Ears.

pulled away her hand. This was due to
a) Repulsion of metal of utensil

b) Attraction of metal of utensil

c) Metal was bright

d) Reflex action

2T el | H 909 & B oldl § 3N aTgTd 81 A0 81 gl ol 81

g g ST g T 27

. @) T B g BT ARIEST

D) T B ey BT TR
b) ads = aaE
b) wieradl o




NN 2 TENI

E 39.Arrange the following water bodies in ascending order
T according to their size.
) Lake I1) Pond [1l) Ocean V) River

Frferitas @a Gl @ S9% PR & JTER 9ed HH A fordl |
fI] Elir I yarema 1) vz V) =&

b R

a) l, I, I, IV b) I, 1,1V, 1
c) It 1, IV, Ml d) i, IV, I, 1

51
40.Figure given below shows few organisms in a nature.
€

Tor=1 sfrepfal ¥ Wepfa # U ST+ 9rel 5 Widl & 9 8 |

Ah The correct food chain is -

HEl HER @&l §0 UFHRN & —
a) A—B—C—D b) D—C~B—A
= ) BSASCoD d) D—~C—~A—B
e
= '

W NV Ay ) B

iR /e g



1.(b) 2.(c)  3.(d)
6.(a) 7.(d) 8. (b)
11.(a) 12.(b) 13.(b)
16.(d) 17.(a) 18.(c) 19.(c) 20.(c)
21.(a) 22.(d) 23.(a) 24.(c) 25.(a)
26.(c) 27.(c) 28.(a) 29.(a) 30.(c)
31.(d) 32.(d) 33.(b) 34.(b) 35.(c)

37.(d) 38.(d)




- baked pizzas and burgers for 30 children {lncludlng 3] ).

': She also served juice to his friends. After the party, she gave

. gifts to all his friends. They all shared equally. Answer the

,' following questions based on the above passage. 5
YIS P A A SR Bl FHS S U¥ HEE R 99s 79 9 30 g=1i

O (Gt @ e R R @i TR T | SHH A A 5 o A R
. w & A wh A Bufee @ ) W W avray e | '

If one child gets 1/3rd of a pizza, the
number of Pizzas baked by his mother

ﬁm
Hﬁmaﬁ‘raﬁfﬁmm1faﬂwm :
SEHT T BT FAC MY IS B i S0

a)15 b8 )10 d) 5

If each child gets 1/2 of a burger,
then the number of burgers prepared
by his mother are

afe uis F=2 &I 99 &1 1 /2 9T Ao g

a)20 b)10




& : {3] Iftntal 3 bnttles of juice are served, among all cherren 41 '
| then one bottle of juice is divided into how
many glasses? i
afe ofF & del 3 drael WA g9 § O 8 TS 2 A1 U
drae ¥ R frart 91 W fre e
a) 10 b) 12 c) 15 d) 5

- (4)if there are total 60 toys, then each child will get how
R many toys?

afe @ Rael=i ®1 We&r 60 81 o Ui g=d &l
ferat Raar feil?

a) 3 b) 2 c) 4 d) 5/

-_._.‘__:5 PASSAGE NO. 2

 In Rohini Sector 2, there are six pockets from A to F. The
: .; number of flats in each pocket is given in the form of a picture
- of a house. Each ﬁ represents 100 flats. The Pictorial

representation is as follows :-
Afzu Hgew 2 H AW Fad © die 2| Ud& Uihe # Telel &) |0

| B TP IR & EE g g9 Tar 2 gl ﬂ1muﬁau€ﬁiﬂaﬂﬁr%|

POCKET A

POCKET B

POCKET C

POCKET D

POCKET E

POCKET F




1.How many flats are there in Pocket A? 42
Hime A # fFad Tele &7

a)3 b)3000 ¢)30  d)300

2. Which pocket has maximum flats?
fFe dide & wifisay Toic &7

i a) Pocket A b) Pocket F c) Pocket E d) Pocket D

3.Number of flats in Rohini Sector 2 are -
el Waew —2 ¥ Telal &) W — 2
a) 24 b) 2400 c) 240 d) 24000

4.1f 4 people live in each flat of Pocket F, then number of
people living in Pocket F are -

afe dide F H Ul® Tole ¥ 9N 95w ¥ 8, df Uide F # &
HEw! & T — B |

' a)2000 b)1200 c)2800  d) 800

T
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PASSAGE No. 3

(IHEE vt Py @ SP0g 1P a547 7

AW YR Tl a

O v A0
. T T ENY . =
e S & -
et . ':EI::I. - — -
11- H""| e A =Treere Sl G o W RS [ 1711
p: . 35 S|
al 2"
P
T ¥ OB THWOIGRAN S s 1
Study the picture carefully and answer the following
3 1 = 9 geee e & 9o 57 -
1.What is the value of note?
ATe =T AFT =47 8¢
H a) 1000 b)¥ 500 c)¥ 10000 d)3 2000
»

2.Whose face do you see here?

a) Father of Nation b) President

c) Prime Minister  d) Chief Minister
¢ [N Ny

a) wfar  b) wsufy o) wamwEr d) g

3.What is the serial No. of this note?
=9 e 1 HH Geal = 87
a) JFGB54792 b) JGF 654792 c) JGF 654729 d) JFGB45792

e L]

4 Which bank has printed this note? s
a) Punjab National Bank b) State Bank of india ]
c) Reserve Bank of India d) Union Bank of India
¥4 Aic &I &g 9% 1 o 87

a) ToE e 4@ b) wwim = 9%
c) wred Rod 5% d) wri= gEe d=

-

»”
"



' PASSAGE No. -4

Air is a mixture of various gases. The two main gases present
in the atmosphere are nitrogen and oxygen. Carbon dioxide,
. water vapour and some other gases are present in small
' quantities. Nitrogen is an important plant nutrient. Oxygen is
' needed by living things to breathe. It is also needed for
burning.
arg faff=1 gR &t A6 H1 o 7| 2R argdsd | 915 S 9! |1
U@ T AR MR HTaeH 8 | HraT SEslawgs, od ard HR B
3 A B e W o ol &) Arggor W & qe uive ae 2
ST EoiEl BT TR ¥ SUIET @ ol &1 98 wie @ forg off
AT & |

1.What is the main constituent of air?

a) Oxygen b) Nitrogen c) Carbon Dioxide d) Water vapour
a1y @1 H HESH ad] 87
a) sifedi b) wEgiom ©) ww esieaEe d) e

2.Name of gas which is an important plant nutrient?

a) Water Vapours b) Hydrogen c) Nitrogen d) Oxygen
.\ 9 W @ AW gaigy off 9 @ ge giee o 2
. a) ol b) gEEeE  c) TEgom d) sitwieE




| T9 9 & AH 9A180 Wl HH AT A U8 S 8 |

a) Oxygen b) Water vapour c) Nitrogen d) Carbon dioxide
a) eieda= b)) ey ¢) e d) EE SEaiiTass

. 4.Arun burns a candle and his sister covers it with glass. The
... candle stops burning due to the absence of which gas?
WU Uh HAGT]] Seldl & 3N I9S] 989 SHG!
frams 9 o@ #7418 | Jmasi 5y e @ srguferfy
& DR g Gl 57




: PASSAGE No.-5 ..
-~ Observe the pictures carefully and answer the quéstions
: given below.

ﬁﬁﬁmﬁmm%ﬁqmm¢ww|

(II)

(1) (TIT)

1.Which of the following is not required by seed for
germination?

TrfeiRaa # & & 41 0%y 99 @ Sigey @ (o 9999 6l o7
a) Sunlight . b) Qil -¢) Carbon-dioxide d)Water

a) ¥4 &1 wwrw b)) e, ) FEA sEanaase d) S

2.Which Eﬁh of the plant helps to fix the plan?ﬁ‘i”ﬁmﬁ?
U 7 &= I 90 9H (Hoe] § S6s T 87

a) Leaves b)Branches c¢)Root d) Fruits

a) afrar b) wrat c)lus d) w=

3.What do trees not give us?

el | w9 9T w981 s

a) Plastic b) F’aﬁgg c) Wood d) FD@Q

a) =ife® b) wrre - €) wwE  d) W

4.Which of the following is correct sequence for seed
germination ™

frfarfaa % & 4o & forg ® &1 B9 a1 87

a)l, I, 1, IV
b) I 1, IV, 111
c) IV, |

ey o) IV, LI, 1]
-_- —.r-?.‘__H -u:'.\__.3_..1?“::_.53
iy @*”i ;;



QUESTION BANK (QUANTITATIVE)

PASSAGE BASED MCQ's
PASSAGE 1
1(c) 2(d) 3(a) 4(b)
PASSAGE 2
1d) 2(c) 3(b) 4(a)
PASSAGE 3
1(a) 2(a) 3(b) 4(c)

PASSAGE 4

PASSAGE 5

1(b) 2(c) 3(a) 4(c)

47



c) cell
d) sell

ENGLISH

=
f
>
=
1O
9
QO
=
V3

)

a) bell
tall

Q.1.Give the rhyming word for the picture given below :-
b

B Q2. dentify the expression -



Choota Bheem, Ben10, Doraemon, Mickey Mouse

' Q.4. To which group do these characters belong :-

(4]
| A
@
i
J
©
| .
4
r
)
=
L ~
g, ¢ :
n
Q-0 =t
©
2
e
=
it
2
o
s
8]
W
[ =
- )
LT c
SF T
e >
< ) .
T o .
C

e S T ]
T T ) s .
- e A e

lling missing vowels

fi



c) Spring
d) Summer

season.
c) Apple

~d) Bananal
| i

........

is the king of fruits.

The lce-Cream man comes in
Winter

)

b) Autumn

e
a



c) Football

c) Writing
d) Wrriting
d) Tennis

Mark the correct spellings.
material given in the picture?

Writting
) Righting
Q.11. Which game do you play with the sport

% Q.10. What is Robinson doing?

= a)



'. Q.13. Where does the horse live?

H ‘--!'\-

a) Tree c) Stable
b) Den d) Burrow

Q.14. Fill the correct punctuation mark.
Where are you going

A}

C);
d) ?

o
e

.. Q.15. Arrange the given words alphabetically :-
a) Atom b) Dog c) Poor d) Sun

a)b,c.d,a c)c,b,a,d
b)a,b,cd d) b,a,d,c

Q.16. Fill in the blank with the opposite of 'Lost’
Raj has lost his watch and has not it.

a) fond c) found
b) brought d) last




Q.17.Which of the following two words have a similar meaning :-

(1) Begin (11) Come (111) Start (1v) Act
(a) (1) & (i1) (c) (1) & (1v)
(b) (1) & (111) (d) (1) & (1v)

& Q.18.Find the nouns from the ball -

(a) The, Sweet (c) an, cry
(b) Play, Rohan (d) Rohan, Agra

Q.19.Select the related word from the given option.
if honest : honesty
then safe :

a) save b) safety

c) saving d) saves.




away.

Choose the related picture.

Q.20. An apple a day keeps the

Q.21. Which is the correct word?

c) buy
d) boy

new clothes.
L

!

| wvill

§ H
Ot

.| Q.22 Tick the odd one out.
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c) fourth

First
b) second

a)

d) third

Q.24. The boys are going to playground

s ¥
TP T —
P ........Ii.ﬂr..l.l?r..ln.ﬂ...l....n.,.....:....
i i et R o e | [ - &
e e A,
= e o L ——
e S g ==

3

_want to play football.

- Fillthe blank.
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g.-“ 14 Sy
Q@ (O
=41
o —
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LT —
——————TT

coke

.....

f coke.

' d) | wants two bottle of coke.

of coks i

~ What will come next?
bottle o

T
Sl

1 3 [ = 4 ¥ - aﬂ.
e —
— — = s
g O =

Mister can be written as

) | want two

?.

|

3

|
a) W

'|Ib) I want two bottle
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' Q.29 Mira is hiding behind the trees.
Mark the correct question for this answer:-

a) What was Mira hiding?
b) Where is Mira hiding?
c) Where was Mira sitting?
d) How was Mira hiding?

il

Q.30. Complete the word according to the picture :-

|l e)Queen | | =

E” Queat




Arrange the words to make a meaningful sentence :-

a) Tea is mother making.
«% b) Mother making is tea.
~ . c) Mother is making tea.
N _cl} Makmg tea 15 mﬂther

| q 33 ‘A gersuri whn talks rnur:h’ rf‘p dem:ﬁhea as ---? i
o, -|" 'I. .." _-I- Rt 111 M ) 11319 §
Lazy 1::3 CIEVEI'

Actwaf | d} Taikatw&
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' Q.35.Rohan is upset his leg is paining.
Fill the correct connector.

a) and b) as
c) while d) until
36.Hari is a car.

Fill the correct form of verb.

a) drove b) driven L Al
c) driving d) drive o= _.-;Gh,:

37.Tree 'B' is than tree 'A'

—_

A "L_
- -
— '~L1 4 {
1
) o=
Tree 'A Tree 'B'
a) tall b) taller

c) tallest d) more Taller



b c) kittens
7 d) piglets

BREAD AND BUTTER

(o

e S o\

Complete the following pairs in the same way,
Far and

a) Then b) Near

c) Tidy d) Now

l':: w 'I:;-.

Q.39.Just as a mother looks after her children, a Cat after

looks her
Fill the blank

M a) puppies
% b) ducklings



put the following

sentences in order -

Q.40. If you want a hot cup of tea,

it boil |
E Ca T | 5

nd milk and let

i

ra

o

1
i

isready. |

b ikl

&=
i
@
=
S
-

ji1

an on the
and te

L

\
E'. [ R 14
hot cup of tea
te

d

Put the
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1(b)
2(b)
3(d)
4(d)
5(a)
6(c)
7(d)
8(b)
9(c)
10(c)
11(b)
12(c)
13(c)
14(d)
15(b)
16(c)
17(b)
18(d)
19(b)
20(b)

Language Conventions

English

21(c)
22(b)
23(d)
24(d)
25(a)
26(c)
27(b)
28(b)
29(b)
30(c)
31(b)
32(c)
33(d)
34(c)
35(b)
36(c)
37(b)
38(b)
39(c)
40(d)




Camels are bumpy

Their backs are all lumpy.
Bears are so grawly
Hwvenas are howly
Kangaroos have a pocket
But no way to lock it
Plavful monkeys are funny
I wish I had a bunny

a) Camel
b) Bear
¢) Elephant

d) Kangaroo

& O 2.Which animal has a pocket?
a) Camel

b) Bear

¢) Hyena

d) Kangaroo




LN (Q 3.What sound do the bears make?

a) Roar
b) Moo
c) Growl
d) Bark

Q 4.What rhymes with word "lock" ?

a) Log
b) Rock
c) Frog
d) Bus




(Q 1.This 1s the picture of a
a) jungle
b) park
c) circus
d) theatre

S AT e
L'm'ﬁﬂ"?""uu?n
o




the slide

sitting on the bench

é;—e playing a'nﬁ:_enjﬂﬁng:

" 2.Two children are coming
3.Two ladies



Read the passage below and answer the following
questions.
MY FAMILY

Hi. I am Rohan. I love my
family. I have one brother
and one sister. My elder
brother helps me in my
studies and my yvounger

sister plays with me. My mom
and dad make the rules for my tamily. My sister gets in trouble 3}
sometimes. Our favourite thing to do as a family is to play games &
together.

Q 1.How many people are there in the family?
a) Four ¢) Three
b) Five d) Six

2.Find out the opposite of elder from the passage
a) Brother ¢) Younger

b) Sister d) Family

3.Who gets in trouble sometimes?
a) Sister b) Brother
¢) Father d) Mother

4. Who makes the rules for the family”
a) Mother b) Father
¢) Mother and Father d) Brother




' Read the letter and answer the following questions :-
A letter to Aunt thanking her for a gifi

&% RO- 410,

& Rajender Nagar

% 3rd May 2013

Respected Aunt
% Thank yvou for the wonderful chess game that you

have sent me as a gift. I and my friends spend our leisure time

playing with it. It will also help to

sharpen my mind. I shall make full use of it.

%, Please convey my regards to uncle and love to Rishi.

& Yours aﬂ'ﬂcnnnatel}f, |

' Vlkaﬂ '

Qg Who hﬂes wrﬂ;tﬂ rheléﬁw?' e i ; TSR
:{'- EIJ Vkaﬁ ¥ | , nl -'l. I ¥ |E}R_‘$ﬂ1 ) ]







Look at the picture of a children's newspaper and answer the
following queatmnq -

G "'H_'MN*E :rrMEﬁ o

_ Deiinbed 1.3.:1!1511

Q 1.What is the name of the newspaper?
a) The Children's Ciub i h) Chﬂd‘t‘ﬂﬂ Club
| L} thldrcn £ Tunﬂs il cl] Kjda T1mcta

I'
I 3

| "Q 2 On wh:r::h EldIG is the nﬂ“’““rﬂpﬂrpubhshe&‘? ;: HAI
S 3) Deﬂﬂmhﬁr 12007 ¢ | b} Decemhﬂl 13, _{}U-l‘r

L) Elecem mz EDBT
Tlli 2 1
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Important Instructions

Read the following instructions before solving sample papers.
1. The test paper contains 40 questions
2.All questions are compulsory

3.Each of the question has four options out of which only ONE
option is correct,

4. Q. No. 1-12 based on Qualitative Reasoning.
. Q. No. 13-24 based on Quantitative Reasoning
% Q. No. 25-40 based on Language Conventions.

I—l‘:' w#m::mm %‘t _
H 13 24141%#14?&?&#?{6% (A

B :5._4n=| mwmmﬁﬁfta |



QUALITATIVE

Q.1) Complete the given figure -

& T AR Y HL-

.

==

@ | ®

Q.2) How many triangles will complete the pattern.

X

(C)

i

@l w0 o A fagsi =1 93 enme

¢) 12

I am a postage stamp. I am from
India. What is my face value?

¥ uh = foz 210 F a9ma 39 9 )
Ha sifFa ged = sy

c) T500

d) ¥ 0.05



W Q 4. A digital clock shows time as g:ys Which of the following
: wall clock 1s showing the same time.

UF HHE g2 @S T Fan @2 e e o afew o
O frm o= %1 99 AwE 92 F guE 2
y

(b)
5.Which is the right Match?
a) Book of Maps

b) Book of word meanings
¢) Book of phone numbers

d) A holy book

) wET AT FRaE 1) T SR
) vie 21 #1 fara 2) wEa T
mmﬁwﬁﬁa‘ﬁm}ﬂﬁw

B =) U e qEe) TEEw

a) A4, B3, C1,D2
c) A2, B3, C3,D4

94

1) Phone Directory
2) Bhagwat Geeta
3) Dictionary

4) Atlas

b) A3, Bl, C2, D4
d) Al, B2, C4. DI




Charkha 15 associated with
a) Mahatma Gandhi
b) Chacha Nehru

¢) Indira Gandhi
d) Rabindra Nath Tagore
S0 2 0§ e wmEtaE 2 .
B A) e e b) == TEE
c) sf=w i d) #a=me 2w

Q.7.Which of the following is air based ITlI.lalEdl ]H'ﬂtl:lllﬂt;llgﬁq

o -

= § A 91 99 9 959G WA §

Q.8.Arrange the following in order of their occurence within a year

(B)

& . 1) Gandhi Jayanti 2) Independence Day
&l 3) Republic Day 4) Earth Day
L P e ww w F e B w ¥ 9 U O A o 8
o 2) T fREm
3) oty few N a) g fom (@ 2)
a) 1,2,3.4 b)4.3.2,1

¢)3.4.2,1

d) 3,12




Look at the picture carefully.

f~ NORTH

—
West
SOUTH
().9.The tree is in direction of fountain.
TS, TR B cvevrrnrnns ° 2
a) East | a) Td 1
b) West b) wiy=m
¢) North c) T
d) South d) =fam
10.The donkey is walking towards direction.
T s FI AT S T 2
a) East aj) T
b) West ’ b) ufves
¢) North c) I

d) South




% 11.Wind has blown the kite in which direction?
g vt w1 e fem A v w6 27

a) East A) ek
b) North b)

¢) South c) afeo - A
d) West d) e

12.In southern side of park, there 1s a

a) Ball a) Tig
b) Fountain b) g
¢) Flower bed c) F

d) Fence d) =g




STAND ALONE MCQ'S
QUANTITATIVE
13.How many triangles are there in the figure?

L o P P &2

i
J

S\ a) 14 b) 3 ¢) 13 d){i:::}

14. The minute hand mowves times round
the clock in one day.
s TR E T A A =T T FAFEL Sl 2
a) 60 b) 3600 c) 24

S 15.Find the brick whose value is different from others
-;:__:’f # I2 | e Ew

N ol
. Ny " -l'-r_.
.
o
- ‘
- - - L%
-
¥ ."
b, s,

16.0bserve the numbers given below. If they are arranged
in descending order, then what will be the middle
number?
A= = e "eme &1 sfEn) 9T 3% wed w9 0 sgatem
WA e He #HE H A 2
5,25,17,32, ¥, 15, 41_13:X7

c) 13 d) 19

a) 25 b) 17




17.Arun's height is 160 cm. Manav's height is 3/4 of
Arun's height but 20 ¢cm less than Vinay's height.
What is Vinay's height?
AT T HAR 160 TH B GFE H =GR SE F] HARE F
3/4 %, WY fag | 20 4 w2 e W S=E o ey
a) 140 cm b) 130 cm ¢c) 120em  d) 160 cm

% 18.An electric fire should not be put otf by using Wwater" \
b since there is a danger of K

a) burning b) fracture c¢) spreading fire d) electrocution
farsteft |9 =it a1 =1 WA |1 R "gEn =nen) =9y fefetaa
=T EE w8

a) e #1 b) e W ¢) #M Her w1 d) W @ H

19.1 litre of Jug can fill glasses of 250 ml each.
1 w22 =1 59 250 Tl |2 % ., fremdt 1 W T E




LA - B 3 = - 4
N

% 20.Which of the following parts of body is not external. B
- (a) Ear (b) Lungs (c) Eve (d) Arm 1
frefefiaa & o =@ = e &1 weg 9m T2 27

T

PASSAGE -2

1  Radhika visited a market with her aunt. They discussed about the
% disposal of waste which is an important part of clean

(8 environment. Aunt told her that most big cities have underground
sewage disposal system. Solid wastes like vegetable peels, waste
% paper, plastic bags, bottles are thrown m covered garbage bmns.
. The wastes which decompose are called biodegradable and the
7 wastes which do not decompose are called non-biodegradable.

Answer the following questions.

TR A9 T2 & 1Y 990 T8l 324 F9 % [92/9 & 91 4 991 F1 0§
L, = T s e % fau smaves @) @il A waen st 92 e |
frrer & fou gftem e 26 81 218 safoe gee = gisadl
'h_::' + o=k, @@ FUE, Wi 99, Anal G R 6% head ° S

| w39 arse i e 8| et el # o A -




e fawen g St R Sa Frefmwia 2

it~ 23 Kitchen waste can be used as :

<

4 21.Choose the one which is biodegradable.

a) Plastic Bag [~ b) Tin can
a) ez & : b) fea ==
Y,
¢) Jute Bag | _ d) Glass Bowl
d) &= w1 w21

‘*'q;;':*::h"éﬁ'- (o3 ] S a-q

- EEEER R E T o L
B Sy BT B

| a) Underground b) Non-biodegradable dustbin
a) gftma b) s frefrero Heme) |

¢) Biodegradable dustbin  d) Plastic Bags ) '

c) S frefream #Hemm d) s 3

mﬁmaﬂaﬁmmmﬂhﬁmm%—

g a) Fertilizer P b) Manure
a) s / b) @
c) Plastic Bag f-l d) None of them

¢) TEEF A dy = o 7



52 % o = fafe= o

FTeR T

—~

yan fu s 21 @ e 52 % o 9E

ﬁqﬁ;{ﬁiﬁﬁﬂﬁﬁhmmﬂ%?

biodegradable and non-biodegradable waste. The dustbin |
flow!

used for non -biodegradable waste is

% HogH

24.There are two ditferent coloured dustbins used for

1
1 i
e (r 1 N TREG
i, _.-._. l-- _ ‘i 1§




LSAMPLE PAPER |
ENGLISH CONVENTIONS

25.Rearrange the following to make a meaningful
sentence - :

a) Sweets I want some.
b) Want I sweets some.
¢) I want some sweets.
d) Some want sweets I.

26 Whoam [ 7
Hints - I am green in colour
I eat chillies and nuts

| I can rcpeat what yﬂu Sﬂ'}’

) Dinosa RN ER A et ) e
L:l st,rmt FRIRE ) R

éim *Fathei‘a:ﬂ
pi ) T smycarsfath Y
u::l} ThIE s my father car. |
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" 28 Which group do these belong? .

a) Colours
b) Season

5

¢) Flowers
d) Birds

29 Two Games which appear in the square are -

L

a) Cricket and Kabaddi
b) Kabaddi and Tennis
c¢) Cricket and Tennis

£
f=—
o - e
B s
L+ = el
e
T
e
v S

e
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e

31.Sam is speaking to Mansi. Complete the Sentence -

¢) Thank you

HINoG

Shut the door.

hEi | E:I',

gtoeac

caking

| Mansi are sp

1

a) Sorry,
- b) Please |




.';'|'l ¥

Lo

.-l-. I -
. ..|rl._...l.1_.l|||I..r._.I. b L
i e ——
B i B — s
m i, T e |
- - - =
= . ..

!

s [ !
1 - 1
[l '_-|-+-|-|-|¥-l-l'il
"y }
L F "

-

U B 1@ 87

= 22

:
-
:
-

4.3 | 9 F FE = B9

9

) fmas1
Gy #
X 3




AT T FE99 FiTET -

g9 37.799 2EHL IEY

[

Fifg -

-

e+ 9= H

7




QUALITATIVE ANALYSIS

24(B)

1084@

1 (B
5 :‘E'i LANGUAGE CONVENTIONS - ENGLISH
i ‘I‘? 25(C)
g A 27(B)
8 (C) i
Passage 31(B)
2 32(A)
10 (B) LANGUAGE CONVENTIONS - HINDI #
11 (B) S
3 12 (C) 33 (=)
£\ QUANTITATIVE ANALYSIS 34 (%)
Y 130D 35 (%)
14(C) 36 ()
15(A) 37 (M
Lo(L) 38 (M)
:;g 39 (%)
19(A) 40 (1)
o 20B)
Y 210
22(A)
23(B)



| 109

- QI.Complete the sequence :- ™A AT /L -

g (D)
. £
Q2. Mickey Mouse is standing in front of the Petrol Pump .
holding the balloons. What does CNG
means here - B
. m i‘ forr T CNG ﬁa'a'r i‘t 'qa'r CNG j -
| __:a} Lt:mp:rﬁhmdﬂahlm] {Iﬂh :_ ] SRR
:bl[ﬂﬂ}pﬂ?@hﬂﬂd Tﬂltmgcn {fa:«, ! ’ -

il {':]Lﬂﬂlp]t}‘ahﬂdWﬂuth {“r.ia BRI
l d]{?qpprmpd,ﬂmn C;ag, BRLCL ITIRRRRLIIIH]

ITERT _.:.-_:"!."- B {IERL b]'.
HEih 15 '.-g::i; j _:|:-'|!_=L 5 {rRERad |
s *H“?“H!Jsi:?r?: s
rﬁu get f,‘ratEqu
o) Bﬂﬂfﬂl% to 24 h{arur -::I%:clq‘? il
Wﬁmﬁmmmn 30 F‘M %‘E'Hm H
= 24 ﬁmﬁuﬁﬂ‘ﬁwﬁﬁ‘? '

II. !
C2)23:30 b)13:30 c)].‘l.ﬁ.E{}  d) 18:30

(B) §




& " 1) Put the right sign on FIRST AID BOX
. wE uE A W osfaa e aEl

(A) (B) (C) (D)

‘ This Sign Symbolises which of the
£ following?
.ﬁﬁ@ﬁmﬁﬁmﬁﬁﬁ?ﬁm%?

*J'"".ﬁ‘-' d;) anger b) Eco-friendly c) PﬂllutIDﬂ d) Earthquake
: a) _r_-}h)n‘ﬂraxm%ﬁﬂﬁ c}m‘n d}ﬁﬁ'ﬂl

'~l._".r'

AR L HAER i 'l 'a ;_1_5:,}' |
_ﬁ Willch Pﬂttem am&ﬁg ﬂIE: :ﬁ}ﬂmwng is made hy 1]

' cmﬂbﬁnmg aﬂ thega, g‘n en f{;mr smnpleg ' AR E

- e ﬁﬁ‘ﬁﬂaﬁﬁm%ﬁwﬁ?"ﬂ',




7.Following are given some pairs of states with their
capitals. Choose and tick which pair is incorrect?

a) Punjab-Chandigarh

b) Uttar Pradesh- Lucknow

¢) Himachal Pradesh-Kohima

d) Haryana - Chandigarh

49 79 AT IRl Tt ® we we fGu o ¥ s |
Ted S & AL FemE w e

8.Seasons on the Earth are caused by :-
a) Rotation

b) Revolution

¢) Shape of the earth

d) None

geft T e 9fiedT W= oFEm R -

a) iR

b) Tfigmm

C) T T AT FH BRI

d) = | =1 ==




This 1s a picture of the first Prime
Minister of India. He fought against
the British to get freedom for our
country. He loved children so much

that his birthday, November 14th is celebrated as children's
day in India.Chidren used to call him 'Chacha Nehru'.

9.Look at the picture. Who 1s this?
a) Jawaharlal Nehru

b) Lal Bahadur Shastri

¢) Mahatma Gandhi

d) Rajendra Prasad

10.Which was his favourite flower?
a) Tulip b) Lotus
¢) Rose d) Sunflower

11.He is popularly known as
a) Bapu b) Chacha Nehru
¢) Netaji d) Iron Man

& 12.His memorial, 'Samadhi' is known as -
S8 a) Rajghat b) Shantivan
¢) Vijay Ghat d) Veer Bhoomi




1139
7z T g & 99w 9uEEE F1 8 s

THI 291 Sl T=H 7Usi § ASE FIA
e F=di 9 98d =R Fa o, sufan
IR SEfaA 14 FgTET TEE SV H

o foem & 9§ 9O S 81 994 3% AN ¥ = qws
% TH H TR 2

9092 fHast w272
a) SaEmET @@ 9EE b) =mer =y Tt
¢) HETTHT T d) T== g9 E

10371 firg wet w9 a1 272

L ) —gfe b) #He
oW ) T d) e

11.9% forg T | ufas 22
§ a) arg b) == HEE
Ly ©) s d) @ TEn

N 12w f & o o 2
w a) TrerEe b) wnf=Em
¢) fava == d) =it =




13. The number of cubes in the figure given below are -
Hrer & wf srrpfa A WAt WY W ... B

a) 10 b) 5 c)6 d) 12

' .Select the correct angles in the following plcture

ﬁﬁﬁ'ﬁ@ﬁﬁ‘:{ﬁﬂﬁﬁnﬁaﬁw

a} ! - nght angle - Ubtuse angfe

i ma&m m—@m

d}l nght angje,u- Straughtangle =
| HH <hroT u'm?r'aa’m | 1




115

ase th
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figure of pebbles in it. Cho

shows the rounded

frfefea § #0 = sy Hafem 22

15.Which of the following figure is balanced?

L 16, The Jar.

¢ the |
Sfea TN

t: : )

i

:

5 ki

5 H e o
i
-H f' ..' | +
! ! 1{
r
|

,ri!

| SE T |

b the 1
s

ould be!

]

i

umber of pebbles that ¢

o S w = A s

A

A Tl

8 |

d) 1749

1

¥
i
}
{

'1¢) 1789




b) =wfirara w=t
d) =nfas ==

e
3
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C) TrETETEH Sl

~ 17.In which form, the energy is stored in battery?

2
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i
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o
d
o
E.
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e
o
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d
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% 19.The diagram below shows part of a water cycle
7 fo3 9@ 5% & W7 @S9 @)

'%15."'-.-,
h

Which process is taking place at 'S"?

'S' T gfwa =i =wia@ 27

a) Melting b) Condensation
a) Toeen b) w=w
c¢) Evaporation (d) Precipitﬁ_tiun

| C)W i | {d} am&mrr

2[1 ?'.*’ hlch of ﬂ:ﬁ: fnllnwmg Is reve;mble‘? :",_1 ! ¥
i#ﬂfﬁﬁﬁ'ﬂn ﬁ?ﬁ? =i HF’s}?ﬂTﬂﬁa‘ém‘-‘q -%:* BT LifViliR
1i1d) Tf;iastmg E;L pif:{.e; mf hl‘ﬂﬂd h] Me:ltmg uf a thuculaﬂﬁ_
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PASSAF\ -

o A sunrey was dnne on 4 gﬂup of smdems. regardmg the
. 'popularity of flavours of ice - cream snamely mango, ’vamia
stmwbery and. qhucalate The ‘tﬂbult}. EIE ﬂ.hf:nwn,m the fw:xrm '

- mi a balﬂ graph g;ven b}é gu eg{

i |i |
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120 %
23.How many Students were surveyed?

e fa=ntel=i =1 994w = =7
a) 90
b) 200
¢) 250
d) 100

24.How many more students preferred chocolate
than Vanilla?

forma faenfe= 3 =ee =61 39en |9 sfus ggs a2
a) 20
b) 40
c) 50
d) 30




ch group do these animals belong?
als

d) Domestic animals

¢) Birds

. a)Petan
&> b) Wild animals

25.To whi







30. Aha what a nice picture.
Fill the blank with correct punctuation mark.
a)? b) !
c). d).

Passage - 3 ( Q.No 31 & 32)

Who am 1?7
31. 1 give heat and light
I am round in shape

The day begins with me
a) Moon b) Stars
¢) Sun d) Sky

32. Arpit is carrying
a of sticks.

==

a) bunch b) flock
¢) pack d) bundle
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ANSWER KEYJ |
QUALITATIVE
Stand Alone MCQs Passage
o) 21(d)
2(a) Zb)
3(b) 23(c)
4(d) 24(a)
EEE; English
7@ 25(a)
(k) 26(b)
Passage 27149
o) 28(b)
10(c) 29(c)
1165) 30(b)
1205) 31(c)
32(d)
St Hindi
14(c) 33 ()
15(d) 34 (=)
16(c) 35 (%1)
17(c) 36 (1)
:gﬁ 37 (%)
% 38 ()
HE) 39 ()

40 ()




SAMPLE PAPER -3
QUALITATIVE REASONING
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Taems wrfaa -
1) 99 g 9K 9 &4 a9
2) WA HI G BN I
gel I5H d =1
3) U SAfF g0 G99 |9 Iford Sern T) = ggEm
4) foafi ¥ g Ogs & 99 TSa T) S WEH
a) la, 2b, 3d, 4c b) lc, 2b, 3d, 4a
c) 1b, 2¢, 3a, 4d d) lc, 2b, 3a, 4d

131

7.Which of the following will not change when a child grows
into an adult?

a) Number of fingers

b) Height

c) Weight

d) Lenght of bones

frer & | =0 <o ofeatds o ©0f vm T B
W2 dedl, SaER H anei s

a) sferh = weEm b) e
c) wm d) sfe=i =t war

Q 8. Sania Nehwal won medal in London Olympics 2012
for badminton.

a) Gold b) Silver

¢) Platinum d) Bronze

HE AEdrE A w54 s 2012 | S=fues d@a
% To....... Y5eh S

a) =T b) w=ea

d) =i

c) =tz
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Label on any product gives us important information
about that product. we should read the label carefully

':.:':":I.;. =i = i
T b RN -
= Y 1 u'“""-__T"-"'I'—L'.I'T' L
g . & L i3 XL e
A7 . }{L\_ e
MW N e =
= P
e w " "“: rik” 3 - r '. I !
LT T i ac _,."-""ﬁ-.r-ur?- i GO0 ml

On seeing the lable, answer the following questions :-
9. What 1s the quantity of product, mentioned on the

label?
a) 600 ml b) 6962
c) 06.08.13 d) Not given
10.What is the expiry date of the product?
a) 06.08.13 b) 600 ml
¢) Not given d) 110

1 1. Which mark on the label indicates that this product
contains only vegetarian 'm;%%dient?

) - I

c) IR d) none

12.What information do we get from label?
a) About Shopkeeper b) About the customer
c) About the product inside d) None of these
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fFdt di Ze0= W o €20 S9F @A €9 39 Ie0S &
B, T ST 2 @) e TR o 39 aw A =i @
,u RS THE oA SAEE TEa Ae)

el I =EH a5 (TEfaiEgd J9 % Sl 8 o

0.5 o YR TS Seds i HE g6 ?

a) 600 facefio b) 6962

@ ) 06.08.13 d) = =& 7

10306 & wael | &= o fafy =oiE 7 € oo = =9 w=m o
W o R

a) 06.08.13 b) 600 fHoefto

c) =& faa T d) 10

Y 1.oae T fEe faen | um oo e € oo v w0 T med

e e v e

0 @ b) 4

Nec H d) =i ==

Y 1270 SEe | F W O W w8
a) FMER F AR H b) mew % an o

B C) @ ® TR # Ak d d) = & =1 =




W ABCD is a piece of cardboard having a shape of square. From

o ~¢) Closed cuboid d) Cuboid with open top.

" SAMPLE PAPER - 3 134G
STAND ALONE MCQs |

QUAN’ITI'.[ATI?E

13. Which kite has smallest value?
foF o =1 oA A 27

14.

C D

each corner the shaded square part 1s cut off and the
remaining is folded. What do you

get?

a) Cube with open top  b) Closed Cube

ABCD T% =0T 9 #1 Z%el 31 9% #6 § oEitea atEr am WO

b) 5= =




135 .
I 5.A restaurant has two square tables (A and B) of same size.
Also it has two rectangular tables (C and D) of same size.

A party is to be organised in restaurant. Chairs will be
placed on each side of all the tables. So far 10 chairs have
been placed. How many more chairs can be placed if same
pattern is followed?
2000

A B

D

TH A S aEr 0w (A B) R # owr # ¥ ouw A
AR F A AFasR 0w (C @R D) off § =i F et aneifem
FI S FAS F A R wEE SR sl T 10 mEE ¢
w T R AfE wE Yo aen 9w @ eiR R SR T o wwda %
&2

(a) 24 (b) 20 (c) 46 (d) 36

16.Find the flower whose value 1s different from others.

T e W H0 w4 o= gel 9 e 2



| El:l Cation h} N}Fiﬂﬂ

"17 .Poorva wants to m{—: her dres;.a with naﬁlral fibre L:l-t)ﬂtl.13
Choose the option which does not suit her choice.

qﬁmﬁm@ﬁﬂaﬁmaﬁﬁmm%ﬁ%a
oz fareq afm st wrafas =0 | = s

a) gt b) e
¢) Jute d) Silk pid
c) 52 d) s

not satisfied with one of them. Guess what it could be?
TF HA A HEH F At weel f AR H v g e T e e
A JEET F7 99 991 g U9 2949 8 U oeey ¥ "ena a9

o1 A oEY R 9% 0 w1 " 27

a) Mobile Phone
a) HEEd HE

b) News paper

b) HHER W

¢) Television d) Carrier Pigeon




19.Which of the following is not a form of water?
frefafas & 9 =0 5= =1 #9732 272

a) Steam b) Dew
a) wra b) sira
¢) Coal d) Snow
c) FHEen d) =%

20.Rohit grouped animals into some categories according to
the food they eat. He categories dog as -

Ufed 5 oGl F1 STF 9EE F AR Said FEm ewE w5
=1 fea =i 9 = gy

a) Herbivores b) Carnivores
a) YMERTERT b)wrErETl
¢) Omnivores d) Scavengers

C) mafer d) st




CPASSAGE

— S

o

Shruti and Jatin went to the market for shopping for Diwali
festival. Shruti bought 20 Divas for Rs. 3 each and two packets
of candles for Rs. 50, Then they went to a sweet shop and bought
lkg Pista Burfi for Rs. 320 and | kg laddoo for Rs. 150.

Read the above passage and answer the following.

8 gfa i S e F JEE F1 @ien & o0 SR ) IS 20 g4
¥ e fsed 9o 919 % 9o 3 B99 91 $K S0 ©99 o 5 gEAihd &
e =R e 9 f9e =1 T=6A W T S 98 W 320 ®99 *7 | Fe

a) Birthday party b) Wedding Function

¢) Diwali d) Christmas

g & Sfoq aee § fF5e o9 % o =diEd =93
a) s=i=a 9 b) faEE TamE



a) Rs. 450 b) Rs. 150
¢) Rs. 320 d) Rs. 470

23 How much money Shruti paid for 20 diyas?
gfa = 20 = + fou e wa fTu?
a) Rs. 20 b) Rs.60
c)Rs. 3 d) Rs. 75

24.How much money did they spend in total?
I Ho feam w1y w4 fFu?

a) Rs. 580 b) Rs. 470
c) Rs. 523 d) Rs. 630
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25 .Write the Rhyming word for the

above picture.

140 |

26.Tell the silent letter in the name of the given picture.

a) Hat b) Pan
c) Hut d) Pen
a) N b) P
¢) K d) O

27 .Arrange the meals in the
correct sequence.

1. Dmner

2. Breakfast
3. Evening Snacks

4. Lunch
a)1,2.3.4 b) 2.4.3,1
c)4,3.2.1 d)3.2.1.4

28.Rohan's chair is broken.To
whom will he go for repair ?
a) Tailor b) Chemist
¢) Carpenter d) Farmer




" 29, With the letter in the word 'UMBRELL!’&' make a new 141

word (Hint : Young one of a sheep)
a) Cub b) Puppy @ i
c) Lamb d) Kitten I a

30.How can vou make the opposite of 'Complete' by

adding -

31.Sohan likes reading. Do you also like reading?
Sohan wants to read the book.
Give him book.
Fill in the correct option.

a) dis b) 1m

c) un d) in

a) there b) these
c) that d) those

32.0ur grandparents love us so much. Look at the picture.
Grandmother is cooking food and

1s helping her. (change

the gender of the underlined word)

a) Grandson b) Father
¢) Husband d) Grandfather




F) | =)
H) ()
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35, om0 =g Frre €, 9% wa gfoim ween 8 @n fom

T =g e feEm dWm R SE Fed Bl
%) ®HHA =) HLF T
) Fifdh q) ST

"N 16.TTef o B A wET AT F g S § =Y 91

ESRUIER] =) =&
) f=ET 7)) T=fa=
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37. =fEen vs% =1 gui-fa=sg e -
F)E+ M+ H+s+gq@) B +TF + =
ME+ AN +H+3F +J+TMHA)T+F+3+ T+ W

38.f93 SEFT gemwm yEaT -
F) T W AN H

) FHL HA

M) warE R =

q) G- A




Qualitative Paper - 3
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9(a)

10(a)
11(c)
12(c)

13(a)
14(a)
15(c)
16(c)
17(b)
18(d)
19(c)
20(c)

(c)
(c)
(c)
(d)
(b)
(d)
(@)
(d)

Passage

Quantitative

Passage

21(c)
22(d)

23(h)
24(a)

English Language

25(d)
26(c)
27(b)
28(c)
29(c)
30¢d)
31(c)
32(d)

33
34
35
36
37
38
39
40

Hindi Language

(=)
(=)
(=)
(@)
(3)
(=)
(=)
(&)




